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n-(—0.0269) < —0.3010

3010

> —— =11.189 X X X
"= 969

n=12




20. 6714e] 5% ©] o] &= Bel Astek g 54 2 lx]she] 22
o QAL AT F el Totofel. (4 A Aol A vhe
Hstol 25 B A7t Tokm, ofef o] 442 RS ol gstelel.)

H 8 &
123456789

10} --- --- |.0086].0128].0170|.0212] --- |4 8 1217 21 25 29 33 37
1.6 <o 12095].21221.2148].2175) --- | 3 5 8 1113 16 18 21 27
> =
> =l 1.63

A2 &S aYolzt stH
670 F o= : 1.05a
12708 & A& : 1.05 x 0.05a = 1.05%a

6070 & o= : 1.05'%

% 1.0510-& opH Hof

log 1.05'% = 10 x log 1.05
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